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You have been called for the written test based on the online data fumished by you in the web application. If you have

wrongly entered any information in the web or you do not possess the required gualification as per our advertisement,
your candidature will be rejected.

2. 90 gie # et F 39y & ) 3nue) aTe-Ree W gEanR FT 91RT)

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. WU, 80 WeAT W IFd WA-GRaH & T A § A ofiew Fr arafr 02 52 ¥

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. MAFSERAFRCT q@lh ol wRT rorT seAm seR-gReawt & s

A separate OMR answer sheet with duplicate will be provided to mark the answer options.
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Each question carries 04 marks and one mark will be deducted for each wrong answer.
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S g1¢ B & AR weer- g Aoft Bz (@HHE). AR et TR W ffdse Tue

g 91ig e
Question booklet series code (A/BIC/DIE) printed on the right hand top corner should be written in the OMR
answer sheet in_ the place provided.

-qfaET & HTTH ATH TAT FHATS Te |
Enter your Name and Roll Number correctly in the question booklet.

mmm.m#mmmmmmhmmwﬁmml
All entries in the OMR answer sheet should be with blue/black ball point pen only.

mﬁmﬁaﬁaaqﬁmmé:maﬁﬂ%ﬁ#ﬁﬁwaﬁﬁww#aﬂaﬂnl

The questions will be objective type with four options out of which only one will be unambiguously correct.

AT, Seai-giaa 7 T 7w il F IHqEr, Al T & afer wgT 99 § MNTHAIN I&-
gm##iiﬁaaﬁaaaﬂaﬁawaﬁrmmmm%l
You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball

point pen.

TF W & foT et ST Ireld ATAT ST |

Multiple answers for a question will be regarded as wrong answer.

ﬁmmmmwmamwmm%mm ITSg-
b, AlE EIG K2l 1L

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

qot 3 FY & B w2 R AT :
Prfters 3y o - i s

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you. '

-qmawﬁmﬂwwmé‘l

The question booklet can be retained by the candidates.

qﬂm%mﬂ%ﬁmmmﬁﬁaﬁqﬂmmmﬁmﬁaﬁ%l

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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oA &t - e (1293)/TECHNICIAN B - FITTER (1293)

Solifa Rt & T o 1 g TUTYAT

gl

Reading accuracy of an Engineer's steel rule is
(a) 17/l mm (b)
(¢) 0.5fA.#./0.5mm (d)

IR gy SR F1 3cuaAw

0.1 A.#7./0.1 mm

0.01 . #7./0.01 mm

gl

Least count of a common vernier caliper is
(@ 0.1 F1.#./0.1 mm (b)

(¢ 0.01 A.#./0.01 mm (d)

0.02 fA.#7./0.02 mm

0.05 fA.#Y./0.05 mm

T3 = & a9 g s (Bfeen) & v o wva w0 &1 g H

Choose a drilling machine for drilling multiple holes of larger diameters

@ JIE 7 wate H2Me/Sensitive bench drilling machine

(b) TeeR wate #@MA/Pillar drilling machine

() TINH gat HAMA/Column drilling machine

(d) =T gaus #Me/Radial drilling machine

g IREH & YT A 1 gifeT g gl
By smelting Iron ore we get

(a) &oral olIgl/Cast Iron

(b) F=aT FEI/Pig Iron

(c) ear @IgT/Wrought Iron

(d) AT FEeT Te/Low Carbon Steel

1293/16



Hgeldl Ued #%el, FRAAT AT H 3eAdT IIod F, Ao ddl Fold, AR dfdser 4
HAFT gl YT 0] AT F INCHR FA & AT 39ged $8a1d & FSAT 3UUR &l
6 ol

The heat treatment of steel to obtain softness, improved machinability, increased ductility, to relieve

internal stresses and to refine the grain size is called

(a) 3=iTelel/Annealing (b) EFIRA/Tempering
(c) ATSCISAUI/Nitriding (d) SRUT/Hardening
SlfeR & arsq & AT garT fRfafese &l

The size of an engineer’s vice is specified by the

(@) & FT TA/Diameter of the handle

(b) &(ST) Hr AlSTS/Width of the jaws

(©) E'E;T(Gﬁ) & oI T HAITA/Gap between jaws
(d) ?-Ié? (RBgseT) fr eIars/Length of the spindle

THIZET a fafaa &

Scribers are made of
(a) ToIal AMgl/Cast iron
(b) HG FEATA/Mild steel

() 3=d Tele] g¥UTd/High carbon steel

(d) SR STATd/Stainless steel

qeSrT AT gl

Surface gauge is a

(a) 3T JSIR/Marking tool
(b) Fder HER/Cutting tool

(¢) 9aYuel FHISTR/Drilling tool
(d) FFIT 3SR/Clamping tool
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9.

10.

11.

12.

g 3eurd & fafise geca gl

Specific gravity of mild steel
(a 5 (b)y 2.7 () 7.8

@ 1

HTS3, @3, TAST & & YT & v 3ugerd wRe

The file used for filing wood, rubber, leather etc.
(a) IFeS WISel/Bastard file

(b) EfF FIT BISA/Double cut file

(c) YTT FIC HIFel/Rasp cut file

(d) TUehel HIC HISel/Single cut file -

gfr o U # MI12 x 1.25 & #fRRT fFar v g ar 1.25
gl

If a thread is designated as MlZ x 1.25, 1.25 designates the
(a) YT & Fr8/Diameter of the thread

(b) YT & [F/Pitch of the thread

(c) U PIUT/Angle of the thread

%I.

sfafga &ar

d) YTF HEe Td & & €T Hr E{ﬂfDistance between crest and root of the thread

AT T & 99 F AR B FF F F AT SUgFT I 7 82

Name the instrument used for checking the gap between mating parts

(a) T3S gAI/Radius gauge
(b) IR JATI/Feeler gauge

(c) Theerc gATH/Fillet gauge
(d) WA TATY/Drill gauge
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13.

14.

15.

16.

F Bz & PavT vd aRfeste HT IfHAT Fl FEd o

The process of enlarging and finishing a hole is known as

(a) Fr3eY SIaT/Counter boring
(b) @Eex RAFHI/Counter sinking
(c) fHI/Reaming

(d ¥T@ic $H3T/Spot facing

ater 1 §FAT T 3UNT AT F AT g ar gl

The ball peen hammer is generally used for

(@) a3/ Wedging
(b) RAfEaRiveting
(c) Sf=S9/Bending
d) F P & fATWRemoving nails

At g & 3icg AT & JaoreT H fRar Fed g
The process of bevelling the end of a drilled hole is known as |

(a) CORTy Eﬁﬁ“ﬂCounter Boring

(b) Fr3eX fAfHaT/Counter sinking

(c) {fHT/Reaming

(d) Tie WRA/Spot facing

& AT B ¥ 39 | aec 23 ¥ T gue AT 3T e B ufhar

The process of producing a flat seat for a bolt head at the opening of a drilled hole
(a) 3T SIRET/Counter boring

(b) Fr3ey FATTHIT/Counter sinking

(c) {fHAT/Reaming

(d T %HT/Spot facing

— %l
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17. & & AR & vaue va w1 Bfew & dgFT vare o

The combined operation of drilling and counter sinking with one tool is known as

18.

19.

20.

21.

(a) hg 9aua/Centre drilling
(b) YT YALT/Gang drilling

(c) T3S waT=i/Radial drilling
(d) 3R FINIT/Counter boring

Thfeh 3TTEE T 3STER0T el
An example of a natural abrasive is

(a) TAfd%a FESs/Silicon Carbide

(b) ¢TI FIETSS/Tungsten Carbide

(c) HRSA/Corundum

(d) SHfoR™IHA FEBS/Calcium Carbide

T de=a1 A a = g

Gas welding nozzles are made of
() IATATH/Aluminium
(b) S¥ITd/Steel

(c) drET/Copper

(d) YrTel/Brass

g, STATT T Ielelich — &l

The melting point of mild steel is

(a) 1500°C | (b) 900°C
(¢) 500°C @ 3000°C

oY &8 rEEITAT T T T

Lathe beds are usually made of

(@) ¥g SEUTA/Mild steel

(b) @ofdl Wlgl/Castiron

(c) IR $¥UT/Stainless steel

(@ CfRfEE BT/ Aluminium alloy

Fgd gl
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22,

23.

24.

25.

o ¥ (@5 W) TF AU & SN F feua #
A dead centre is the lathe centre fixed in

(a) MY TeTd/Head stock

b) T ¥Teh/Tail stock

(c) Sf/Carriage

(d) dse/Saddle

SR AE S &aNT Bigat % Peafaf@d I8t B degfa 7 R El

These are the grades of files recommended by the Bureau of Indian Standards

(a) =&, aﬁ?ﬁ'q e, [AsaoT tj'\cﬁ' ﬁWﬂUT/Roﬁgh, Second cut, Smooth and Dead smooth
(b) &, JEes, Eﬁ?ﬂﬂ' Fre, fAsmor a q‘;U;T farshIuT/Rough, Bastard, Second cut, Smooth

and Dead smooth

(©) aEcs, Eﬁ?ﬂﬂ e, fasaor 9 C‘[U‘f fAsaIuT/Bastard, Second cut, Smooth and Dead

smooth

(d) e, gfadd Hie, fAshIv/Bastard, Second cut, Smooth

Rrfafad #§ & e 3o X & v 3uged 9T # 99T H
Select the punch used for making witness marks from the following

(a) 60° e TT/60° Prick Punch

(b) 30°f% T=/30° Prick Punch

() e gd/Centre Punch 7

(d) 90° g Yd/90° Centre Punch

I Fed a1 (FIE Fe E) 1 3939 & faw g 8l
Cross cut Chisels are used for

(a) 3 FHAA 956 WX 1A F¥1/working on large flat surfaces

(b) 38 erere RIG & el (RT9aT) e/ chipping excess metal off castings
(c) 3tk des SiISE T dS¢aA a¥sl/chipping excess metal off weld joints

d A aI (key ways) T E?ri?{/cuttir_lg key ways
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26,

27.

28.

29,

30.

a7 TS & Fdd &d gl sois T A 3T g gl
The most suitable pitch of a hacksaw blade for cutting thin tubing is

(@ 17#A/1 mm () 0.8 A.FH./0.8 mm

() 1257 /1.25 mm (d 12#F/1.2mm

& JIRT fBfeds meie & Rusa w e o« 3mifoa far amar &)
Drill chucks are fitted on the drilling machine spindle by means of a

(a) STE{T ERI(3MTeR)/Arbor

(b) f3we/Drift

(c) aferd Ra/Knurled ring _

(d) M g 7A(F)/Pinion and key

S f3re ——— & fav 3ugwa gar g

A drift is used for

(2) AN gz o g Ao %@'/Removing the drill from the machine spindle
(b) TH 3T fo9e & =7 & v 9fRa1/Punching for locating a drill bit

() g & T AT & clel/Cutting thin sheets of metal

d FEIF gU 3o &l e /Removing a broken drill from the work

o & JU A9 F T IugEd 49 gl
The instrument used for precision measurement of angles

(2) dferaR HAR/Vernier caliper

(b) afaaR e YIeae/Vernier bevel protractor

(c) HATSH FAEI/Micro meter

(d) HIST HE/Combination set

WA 3237 & fAv 3ugesa B e & A=s efoea wor —— gl
The standard helix angle in general purpose drill bits is
(@) 62.5° (b) 90° (c) 37° (dy 27.5°

9 1293/16



31

32.

33.

34.

35.

36.

V it & fAS wHioT gl
The included angle of V block is
(@ 90° (b) 60° () 30° (d) 120°

WFR F 3UHas 7 ~gaad do F a9 & R & gd ¢l

Difference between the maximum and the minimum limit of size is known as
(a) TaTe=/Deviation

(b) HESUIAT/Tolerance

() fRe/Fit

(d) al'mflnterference

SRR HoT U # e He WSO 1 gen 8l
Number of fundamental tolerances in Indian S*tar‘ldard System
(@ 25 “(b) 18 (c) 13 (@ 30

fag IR SO & g W ¥ fav Peeas e o

In a hole basis system the lower deviation for the hole ‘H’ is

(2) 0fF.#AL/0mm ' ®) 0.1 /0.1 mm
() 1A/ mm . (@ 0.01 FA.#H/0.01 mm

AfSfer &1 gfteam #F swgEa [ Terd gl

The filler material used in brazing is

(@ 5 SETA/Mild steel

(b) 450°C & FW Il gFd 3ellg ﬁq'ﬂ'l?fomon-ferrous alloy with melting point

above 450°C

(c) 450°C & FW IAih ¥ Fard olg A Ferrous alloy with melting point above 450°C

(d) SERIYT S¥ITA/Stainless steel

T oY Aex(Fg) Hr U &g gl

The conical point of a lathe centre is

(a) 30° (b) 60° (c) 90° (d) 100°
10



37.

38.

39.

40.

R el & fIT WURVIEAT SREd Y Hex F4 &2

Which is the lathe centre generally used for taper turning?

(a)
(b)
(©)
(d)

31fhT HeX/Dead centre

37T FeX/Half centre

diel He/Ball centre

Tg-arferd ﬂET/Self-driving centre

oY H FET VT 3T e ¢ IUYFA S g el ISR gl

A multipoint cutting tool used to create external V thread in lathe

(2)
(b)
(©)
(d

Afda 3eR/Knurling tool
YEI/Chaser

oY 319T/Lathe dog

9/ Tap

aﬁ%a@ﬁwwwﬁwwa@a@aﬁwaﬁawﬁ%ﬁmma@aﬁaﬁﬁﬁ

The purpose of relief grooves is to

(a)
®

(©
(d)

gl
For turning long tapers with a small taper angle, the method of taper turning employed is
(a) T=B ik & IBATEM offsetting the tail stock
(b) B [ TeIfeiaT/form tool plunging
(c) ﬁ'ﬂ/@ﬂﬂ-ﬂ' FATSS &1 FAIgdelieldl/swivelling the compound slide
(d) o HH T3S Ug 'x‘i'{i_)ﬁ/ﬁef"ﬂ' TE8 & Tdeld T HAlelel/Combination of the lathe
cross slide and the compound slide movement
' ITaraT AN F 32T gl

AT fhe & IR H ST WA/ Maintain the required type of fit
foe ey sae & T\B’f & 9T & IS Hl 'ﬂﬁﬁﬂﬂ' {T/Ensure contact between

surfaces without any obstruction
Tigd & foIT ST/ Make for lubrication

FEa & T gl & v AT/ Adjust the components for play
11 1293/16



41.

42.

43.

44,

e & Aerd & Mg A9 & AT sugFd T —— ¥

The instrument used for quick checking of sheet thickness

(2)
(b)
©
(d)

BT TAT/Feeler Gauge

fheeic gATd/Fillet gauge
3 9AT/Drill Gauge

ATF a) FATY/Standard Wire Gauge

W Soldi dig HI & har Srar g

Cast iron is normally turned

(a)
(b)
(©

(d)

e & ®Y H AT A HT YT Fh/by applying soluble oil as a coolant
foar ol Mo & YA FH/dry without any coolant

MNded & & H Fol Fe ol T TIET /by applying straight cutting oil as a

coolant

MNaesd & ®T H Fd H IYAT F /by applying water as a coolant

AT 32T & fav 3ugea fgar foe & g sHwor gl
The point angle in a general purpose drill bit is |

(2)

108° (b) 118° ©) 90° @ 60°

olg & AT @ HlT-Q 3 TTh HT 3TN g1 fohar Srar?

Name the ore which is not used for making Iron

(a)
(b)
©
(d)

EV'IWTBE'/BauXite
forA=Se/Limonite
%ﬁ'&'l%?/l—lematite
HeAerse/Magnetite

12
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45.

46.

47.

48.

UF 95 & di5d A 3ugwd 9T gl
The thread used in a carpenter’s vice is

(a) aat da/Square thread

(b) &l TU Ga/Saw tooth thread

(c) WHASET Yd/Trapezoidal thread

(d) & Y=/Vee thread

Schel dclel & U sraAEfa H @1 ST FhaT gl

Irregular shapes for eccentric turning can be held in a
(a) IR B?‘,TGI? ) dh/Four jaw chuck

(b) 1T §=(ST) T/ Three jaw chuck

(c) EI'\Ui' Fg/Dead centre

@ =R ﬁTITf/Steady rest

o1 A S TS ety qE 6 e @ e £

Ability of a metal to withstand shock and impact

(a) ﬁ?WT/Brittleness (b) ﬂ?le{FIT/Toughness
(c) FONRdl/Hardness (d) d=Id/Ductility

afe B AR 2070002 qor dre TR 2070970920 ¥ oy 3R aH A/ TET
gl

If the hole size is 20709040021 .14 the shaft size is 207000770020 e maximum

clearance is

(@ 0.007 fA.#Y./0.007 mm () 0.021 FA.#Y./0.021 mm
(© 0.041 FA.#)./0.041 mm (d) 0.014 &.#./0.014 mm

13 1293/16



49.

50.

al.

52.

23

adsT & R FieAshd HH & HROT g Bl
A concave face in turning is caused due to

(a) 3SR & Hﬂﬁlﬁ Folgst/Improper clamping of tool

(b) s ¢cl/Blunt tool

() ST FT &G o glAT/Carriage is not locked

(d) 3SR &1 Fg A Tg & HRU/Tool is not set to centre

28+05% &9 & HART B & fow afgsogar g

For a hole designated as 28 + 0.5, the tolerance is

(@ 0.5 .#0.5 mm ®) 1A /1 mm
(c) 28 A.#A.28 mm (d) 285 #.#7./28.5 mm

30H7/g6 & & # 3fART e e gl
A fit designated as 30H7/g6 is a

(a) forssraer fe/Clearance fit
(b) THHUT e/ Transition fit
(c) cafaewor fe/Interference fit

(d) WS e/ Tolerance fit

T FHBIOT FFHRIOT FT MR 10 TAT 3HHT ITaAN(FATS) 20 &1 STH &3T%hel hdar

g1
The base of a right angle triangle is 10 and the height is 20.What is the area?
(a) 100 (b) 50 (c) 10 d 20

300 fAHY. oGS @ TFT Tk Al pohdl sels H 375 §d §1 I8 1 FEffaor vd We &

WehIT T g2
A standard hack saw blade of 300 mm length has 375 teeth. What is the classification
and type of set of the blade?

(2) HIEIH, d A</Medium, Wave set

(b) ATEIH, AraRd(fAfFe=1) Te/Medium, Staggered set
(c) &H, iaRkd(faffe) Tc/Fine, Staggered set

(d) Tq&H, A ¥/Fine, Wave set

14 1293/16



54.

35,

56.

ok

FER FET F 06 A F S 8d 399 ad W B D24 & e afy afgar
(3IRYITH) T 9aT ARNT| TIUHTH & Y BRI e & v 3nfaa ifeas sda

aifd 35 m/min &1

Find out the speed setting (rpm) for a high speed steel drill D24 to cut a work piece of phosphor
bronze. Maximum cutting speed with HSS for Phosphor Bronze is 35 m/min

(@) 400 (b) 200 ) 1000 @) 600

60° & fdg @1 F-wry I R@e i AT Hor 3950 § A IHA IRSHROT HIoT

T 82

What is the clearance angle if the angle of inclination of a chisel, with point angle 60°,
is 39.5°?

(ay 13

(b) 9.5°

(¢) 20.5°

@ d=rHFF ?ﬁ'&s.' sTgi/none of the three

U AR HfAuw #, afR e & 100 fsmsier gea &ha & x Reee () o
&1 afe affRR @rar & reugA® 0.01 FAH. § O 389 x & AT &1 gdar J9nv|

In a vernier caliper, 100 divisions of the vernier scale occupies x divisions (mm) of

the main scale. Find out the value of x if the least count of the vernier scale is 0.01 mm.

(@ 49 ) 51 © 99 @ 101

Th B3 & AW & AYA g Th Afgh &1 3UA9T TR Siiar g S ArgshiAey o
100-125 fALE. & QX &1 R ISUAA A 16.5 GUAT T ReT A agal @ fFerd ge

e Auee A1s A 28 GATATI B FT ATH FAT 87

A Metric Outside micrometer of range 100-125 mm is used to measure the diameter of a rod. Barrel
graduation showed 16.5 and the thimble graduation in line with the barrel datum line was 28. What
is the diameter of the rod?

(@) 16.78 .7 1./16.78 mm (b) 16.64 FA.#Y./16.64 mm
() 116.64 T.#7./116.64 mm (d) 116.78 T#.71./116.78 mm
15 1293/16



58.

59,

60.

61.

62.

e T B 3R 25 7R qur dure 3R 2570008 & Y sgeras safaetor
gl |

_ +0.000/+0.021 . +0.022/40. - . .
If the hole size is 25 and the shaft size is 25 T*922*0035 the minimum interference is

(@) 0.035 A.#/0.035 mm (®) - 0.001 A.#./0.001 mm
() 0.022 i?r.:fr./o.ozz: mm (d) 0.014 fA.#./0.014 mm
oY H &+ s g9 d, g H TH T FT 1§ AT F HROT 81T gl

While facing a job in lathe, a pip left in the centre is caused due to
(a) 3R Fr Hﬂﬁ?l’ Folual/Improper clamping of tool

(b) ST Eel/Blunt tool

(c) SIST F §¢ A gIAl/Carriage is not locked

(d) 3SR &1 Fg H HE)I?T & IROUT/Tool is not set to centre

qUee INSRT # Iueieyr HFaH IR 3TAET Hior gl
The maximum side relief angle provided on parting tools is
(a) 5° (b) 2° ) & d 10°

T dereh A 10 LA, BT oI ¥ adf A F gue geo dumer Far &

A sphere has a diameter of 10 mm. What is the surface area in square mm?

@ 10x () 100  (c) 200= @) 400x

U o H 20 AL @ IR =g vd 30 AL fr RS FAE ¥ mm® F g@er
JeSIT &1l T §?

A cone has a base diameter of 20 mm and the slant height is 30 mm. What is the surface area

in mm??

(@) 200x (b) 400x () 100x ) 500w

16 1293/16



63.

64.

65.

66.

ar el & &g & Fearer g 30 A 1 @ Bl | Sigaeeh W 8te 'R W
60° 0T FATAT &1 axt el & o & gl frae &2

The vertical distance between two holes is 30 mm. The line joining the two holes make

an angle of 60° with the horizontal. What is the distance between the two holes?

(@) 6043 (b) 60/42 () 60/43 @ 60

ﬁﬂﬂﬁ?ﬁ,ﬁﬂﬁ‘g%mmﬁaﬂﬁw%mﬁ@m)ﬁm‘a%mﬁ
hgd ol

Angle between the top face of cutting point and normal (90°) to the work surface at the cutting edge

(@) % HIT/Rake angle

(b) forseTa SIUT/Clearance angle
(c) HTAT/Inclination

(d) fog HIoT/Point angle

aﬁwm&ﬁﬁﬁaﬁaw:@mméﬁr}ﬁ.mmlmm%a’ra?qv—r%cr
fgor cara gl

If the major diameter of an ISO metric thread is 6 mm and the pitch is 1 mm the recommended tap

drill diameter is
(@ 5 %.affr./s mm (b) 6A.H/6 mm
() 4TA.#./4 mm @ 7@ /7mm

afe 7g sEUT i Fce A 20 m/min & @ 020 A, F For e F Pe nfEa goi=
A (rpm) AT §2

If the recommended cutting speed of mild steel is 20 fn/min, what is the rotational speed (rpm)
required for a ®20 mm drill bit?

(a) 320 rpm ‘ (b) 1050 rpm
(¢) 120 rpm . (d) 2100 rpm :
17 , - 1293/16



67.

68.

69.

70.

ks

ISR 1 gsal & IS TUT Felel T TN TS

Tool will rub against the work surfaces and the cutting force increases when
(a) fAsFrAaT 0T 318 §l/Clearance angle is more |

(b) TASHIA HUT HA gl/Clearance angle is less

(c) I FIUT 3TAF §l/Rake angle is more

(d) I FIUT FHHF gl/Rake angle is less

goral dligl & AT & faw snfea & S gl

The rake angle required for machining cast iron is
(a) 8° (b) 0° (c) 25° (d) 30°

cfare 3o & gfoew aor fAeRa s &

Helix angle in twist drill determines the

(a) ToSHIET SIUT/Clearance angle (b) IF FIUT/Rake Angle
(c) Teg SIUT/Point angle (d) F=fd/Inclination

AT T & foT ToT Fid 3hde [ &1 3w R ge i Re o w aht &
TR A 7 oo wie & aRees FY| 93971 =9 (D) =36 A, B e d) =
32 fAal, dF @erg () =125 AL FE i For d@rs (L) =250 A

Calculate the tailstock offset in mm for the job details given below using tailstock offset metho
for taper turning : Big diameter (D) = 36 mm, Small diameter (d) = 32 mm, Length taper (I) :
125 mm, Total length of job (L) =250 mm '

(@ 2&A2mm (b) 4 @HA/4 mm
(c) 6 /6 mm (d) 8A.#/8 mm

At 9o 7, N9 sarE W 99 f A Faan gl

In a metric thread, what will be the thickness of the thread at pitch diameter?
(@) T T ATYT/Half of the pitch

(b) TT & FAW/Equal to pitch

() HIAAT & HATA/Equal to lead

(d) ;A F F FS AE/None of the three

18 1293/1¢



2.

43

74.

73,

76.

25H7/p6 % &7 & FART v e gl
A fit designated as 25H7/p6 is a
(a) TS fhc/Clearance fit

(b) THAUT e/ Transition fit
() cafastor fre/Interference fit
(d) @fgsordar e/ Tolerance fit

TAS 20 A IFA A F YAk HIeA(TISS) HT Fiel 56 &bl FIAT &7

What is the total surface area of cube having each edge of length 20?
(a) 240 (b) 2400 (c) 3000

FeT aIT & ‘T e e A g gl
At room temperature plain carbon steel contains

(a) WIS vd f@#AeEe/Ferrite and Cementite

(b) W8T UG YaTSe/Ferrite and Pearlite

(c) Udise Ud f@ATese/Pearlite and Cementite
(d) 39dFT /Al the three

2 3. 4 A e ]
The LCM of 2, 3, 4 is

() 4 (b) 6 (c) 8

) 200

() 12

5% o SUTST & 9 & asf 3 2000 FUT & foT WYUROT sI1T

Simple interest for ¥ 2000 in two years at an interest rate of 5% is *

@ %200 | S (b) 7400
© 2200 B @ %100
19
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77. sﬁ.méﬁwmﬂmwwmmmw%mﬁ#mﬁm

78.

79.

80.

W%mﬁm%m@zﬂ@raﬂﬁwmm%aﬂﬁ4ﬁr.a§%ﬁ#aﬂn
$r FaE ——————

A ladder of 5 m length is kept leaning against a wall such that its tip is along the top of the wall.
The lower end of the ladder is 4 m away from the base of the wall. Then the height of the wall is

(a 3m (b) 9m

(¢) 10m (d) 3.6m

1 #. ﬁ?ma:m?mwmaﬂ._—d%n
Volume of a Solid Sphere of radius 1 m is

(a) - 4n/3 m’ | (b) 4n3m’
© 23m® @) 2n3m’°

T Y 50 R/ & wfy ¥ 30 AT deeh ¥ T 301?1?6 60 fo.#Ar./ae
$r oty A swh hEa AT gl

A train runs for 30 minutes at the speed of 50 km/hr and the next 30 minutes at the speed ¢
60 km/hr. Then the average speed is

(@) 40 3 /8e/40 kiv/hr
(b) 50 Toh.FY./8/50 km/hr
(c) 45 .7 /ae/45 ko/hr

) 55 o #Y./8¢/55 km/hr

FYRIOT & 0T T AT SEE AR F 2:7:11 & AT A &
Find the angles of the triangle, if they are in the ratioof 2 : 7 : 11.
(a) 18:63:99

(b) 20:70:90
(c) 30:50:100

(@ SEH T @S 7el/None of these

20 1293/



